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1
Introduction
RAN4#79AH endorsed the CR on FRC and CRI test for FD-MIMO CSI-RS Class B K>1 case [1][2]. 
In this contribution we provide our simulation results with FDD/TDD to decide the throughput gain γ and CRI reporting rate α.
2
Simulation results
2.1
FDD
Figure 1 shows the simulation result of follow CRI and random CRI with FDD and Figure 2 shows the throughput ratio of follow CRI and random CRI.  
Error! Reference source not found. summarizes the throughput ratio 
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 is the throughput with follow CRI and fixed precoder at SNR achieving 70% of the maximum throughput, and 
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. It is observed from the table that the throughput ratio value between the follow CRI result and random CRI result is 1.3 ~ 1.5. Considering the implementation margin, we propose to set the requirements to γ=1.1 for Test 1-1/1-2 and γ=1.2 for Test 1-3/1-4, respectively. 

Another requirement is the reported CRI statistics. Under the agreed beamforming model condition, it is expected every CRI is reported with equal probability, that is, α =50% for K=2, α =25% for K=4, and α =12.5% for K=8. Considering the margin, we propose to set α=40%, 20%, and 10% for K=2, K=4, and K=8, respectively. Figure 3 shows the example of the reported CRI distribution in the case of K=8 (Test 1-4). 
Proposal 1: For the FDD CSI-RS Class B K>1 CRI test, set the requirement as follows:
	
	α [%]
	γ

	Test 1-1
	40%
	1.1

	Test 1-2
	40%
	1.1

	Test 1-3
	20%
	1.2

	Test 1-4
	10%
	1.2
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Figure 1
Simulation result of follow PMI and random PMI for FDD.
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Figure 2
Throughput ratio of follow CRI and fixed CRI for FDD.
Table 1
SNR for 70% of the maximum throughput with follow CRI and the throughput ratio of follow CRI over fixed CRI at this SNR point for FDD.
	
	SNR
	Gain

	Test 1-1
	3.8 dB
	1.3

	Test 1-2
	0.8 dB
	1.3

	Test 1-3
	-0.4 dB
	1.5

	Test 1-4
	-0.7 dB
	1.5
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Figure 3
CRI reporting rate for FDD Test 1-4 (K=8). 
2.2
TDD
Figure 4 shows the simulation result of follow CRI and random CRI with FDD and Figure 5 shows the throughput ratio of follow CRI and random CRI. 

Table 2 summarizes the throughput ratio 
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 is the throughput with follow CRI and fixed precoder at SNR achieving 70% of the maximum throughput, and 
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. It is observed from the table that the throughput ratio value between the follow CRI result and random CRI result is 1.3 ~ 1.6. Considering the implementation margin, we propose to set the requirements to γ=1.1 for Test 1-1/1-2 and γ=1.2 for Test 1-3/1-4, respectively.
Proposal 2: For the TDD CSI-RS Class B K>1 CRI test, set the requirement as follows:
	
	α [%]
	Gain

	Test 1-1
	40%
	1.1

	Test 1-2
	40%
	1.1

	Test 1-3
	20%
	1.2

	Test 1-4
	10%
	1.2
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Figure 4
Simulation result of follow PMI and random PMI for TDD.
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Figure 5
Throughput ratio of follow CRI and fixed CRI for TDD.

Table 2
SNR for 70% of the maximum throughput with follow CRI and the throughput ratio of follow CRI over fixed CRI at this SNR point for TDD.
	
	SNR
	Gain

	Test 1-1
	4.4 dB
	1.3

	Test 1-2
	1.1 dB
	1.3

	Test 1-3
	0.0 dB
	1.5

	Test 1-4
	-0.2 dB
	1.6


3
Conclusion
Proposal 1: For the FDD CSI-RS Class B K>1 CRI test, set the requirement as follows:

	
	α [%]
	γ

	Test 1-1
	40%
	1.1

	Test 1-2
	40%
	1.1

	Test 1-3
	20%
	1.2

	Test 1-4
	10%
	1.2


Proposal 2: For the TDD CSI-RS Class B K>1 CRI test, set the requirement as follows:

	
	α [%]
	Gain

	Test 1-1
	40%
	1.1

	Test 1-2
	40%
	1.1

	Test 1-3
	20%
	1.2

	Test 1-4
	10%
	1.2
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